S4 3178 AlC 2EZ2 & YEX| Y Al2|X

(ALL AE|212[A FA])

o U AN wWwbh =

SH AL SUS304(HFZE) QL|CE(SUS316 CHE 7ts)
2 2t30| A 5L

5 2HAE0|A ALE IS LICEH

HAIZ 2t st EX 2| E HX EHEIL|C.

ol S d

M2 Z=0t 20 LY Sl

Ral
ofn
>t
ot
o
r)-l
ot
oln
N
>t
Al
A
=
pal
Ok
Yl
=2
DAl

18 75 -LICh(3t2|/0td D|ALE)

d

=
1,2XFAX|/LCD,OLEDZ}Q! A X

www.kccpr.com




SUS & E{X| m| &l

® A& ®Hd48FEH @ HH¥&1E
S4 SUS304(EZ) 04 o4 RPT)LAHER) | G(PF)LIAHHIES)
6 SUS316(HIEZE) 06 26 M5 M5x0.8
08 78 R(PT)1/8,
@ER 10 910 | O | R |G0T) G1/B
= A
c SUA YA 12 012 4o géfg%;{% G2 G 1/4
= LA 1 au % R(PT)3/8
T ALEAL T2 03 Rc(PT)B/é GO03 G3/8
ST _/'\_L|>A|- 2%60'2 |.7\|“%oi R(PT)1/2
Y LEAL YA 04 Rc(PT)1/2' G04 G1/2
¢ i W 27|15 ze prudz
PFC IS QrLIAL YR e | 04 04
PC 28 7oG2 s 06 06
uc FE2E Ay 3| 08 08
uL ;EE':E: LA % 10 210
ut ;Ecﬂ; T2 12 012
UX ESEE Y;t%: 16 016
Z TETE ALY LIS B E2 AJQEO 2 28 AA &L
i S *GPPLIES HIBZ AfYOR 22 Mt gic
RY CE 0REHE Y2t
GT CI2 0R B T2
AP T2E
ARERA 371, =, 371
B SUS304(EZ), SUS316(HIEZ)
Az FKM —
AEYHHS -100KPa~1MPa
AHE2EHe| -5~150°C Trachea
%28 Tubeto| Z 80| A0fAf TubeQ| 2T ABYH U 20f| O AFLICH Ontologharate Button
Stainless Steel Clasp
Rotatable —/
Dcrew Thread|| \—Seals

www.kccpr.com | RS



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|E

S4C series

TLIAF RS
o
QILIAMZ O] Z+2 ko] R H Hf 20| AL
QAz|fE

el tmm
=11 @D | P T L| a8 |
(Hex)
A S4C04M5 | 42 | 98 | M5x08p | 21 | 4 | 15 | 10
S4C0401 | 42 | 9.8 | R(PT)1/8 | 20 | 8 | 15 | 10
T 1 S4C0402 | 42 | 98 | RPTI/4 | 22 | 9 | 15 | 14
S4C0403 | 42 | 9.8 | R(PT)3/8 | 22 | 9 | 15 | 17
i S4C06M5 | 62 |11.8| M5x0.8p | 22 | 4 | 15 | 12
S4C0601 | 6.2 |11.8 RPTI1/8 | 22 | 8 | 15 | 12
S4C0602 | 6.2 |11.8| RPT1/4 | 22 | 9 | 15 | 14
S4C0603 | 6.2 |11.8| R(PT)3/8 | 22 | 9 | 15 | 17
- oP - S4C0604 | 62 |18 RPT1/2 | 26 | 13 | 15 | 22
$S4C0801 | 82 |13.8| R(PT)1/8 24 | 8 | 15 | 14
oD S4C0802 | 8.2 |13.8 RPDI/4 | 23 | 9 | 15 | 14
S S4C0803 | 82 138 RPT3/8 | 22 | 9 | 15 | 17
| $4C0804 | 8.2 |13.8 R(PT1/2 | 26 | 13 | 15 | 22
i i \ $4C1001 | 10.3/15.8| R(PT)1/8 | 26 | 8 | 15 | 17
[ 1l $4C1002 | 10.3/15.8| R(PT)1/4 | 29 | 9 | 15 | 17
J L1 S4C1003 | 103/158| RPT)3/8 | 23 | 9 | 15 | 17
m | | S4C1004 | 10.3/15.8| R(PTI1/2 | 26 | 13 | 15 | 22
_ | | $4C1201 123 17.8) RP1/8 | 26 . 8 | 15 17
— S4C1202 | 123178 RPT/4 | 29 | 9 | 15 | 17
|| I]___—[I A S4C1203 123|178 RPT)3/8 24 9 | 15 | 17
] <C S4C1204 | 12.3/17.8] RPT1/2 | 26 | 13 | 15 | 22
Y . 1 S4C1603 | 16.3/21.8| R(PT)3/8 | 28 | 9 | 15 | 23
T ! S4C1604 | 163/218| RPT1/2 | 28 | 13 | 15 | 22

B o www.kcepr.com



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{2| I|&l

S4L series

AR+ =

2l mm
oo oD | @pP T LIE|A|B|H
= (Hex)
- S4L04M5 42 | 9.8 | M5x0.8p 22 120| 4 |15 12

~ ] P
S4L0401 | 42 | 98  R(PTI/8 24]20] 8 |15 12
B e | T S4L0402 | 42 | 98  R(PTI1/4 26|20 9 | 15| 14
N 1 S4L0403 | 42 | 98  R(PT3/8 ' 27|20] 9 |15 17
S4L06M5 | 62 |11.8| M5x0.8p | 22|23 4 |15] 12
S4L0601 | 6.2 |11.8| R(PT1/8 | 24|23 | 8 |15 12
S4L0602 | 6.2 |11.8 R(PT1/4 | 26|23 | 9 15| 14
S4L0603 | 6.2 |11.8| R(PT3/8 | 27|23 | 9 | 15| 17
SAL0604 | 62 |11.8| R(PTI1/2 |29 /23|13 |15 22
S4L0801 | 82 |13.8 R(PT1/8 | 22|24| 8 |15 12
F S4L0802 | 82 |13.8 R(PT1/4 |27|24| 9 15| 14
B S4L0803 | 82 |13.8 R(PT)3/8 | 27|24| 9 |15 17
- - S4L0804 | 82 |13.8 R(PM1/2 | 31|24[13 |15 22
S4L1001 | 103|158 R(PT1/8 |27]28] 8 |15 12
‘ S4L1002 | 103|158 R(PT1/4 |27|28| 9 15| 14
al o 0T T S4L1003 | 103|158 R(PT)3/8 |28|28| 9 |15 17
Q © 1 [H | \ S4L1004 | 103|158 R(PT1/2 |30|28|13 |15 22
‘ ] ! S4L1201  |12.317.8| R(PT)1/8 29|26 8 | 15| 12
S4L1202 | 123/17.8 RPT1/4 |27]26| 9 15| 14

1

| —J S401203 | 12.3|17.8| R(PT)3/8 | 27|26| 9 |15 17
| \ S4L1204 | 12.3|17.8 R(PD1/2 | 31]26]13 |15 22
[ 1] < S4L1603 | 16.3/21.8 R(PT)3/8 34|30 9 | 15| 17
T — B | S4L1604 | 16.3|21.8| R(PT1/2 |34]30[13 |15 22

www.kccpr.com B 7



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|E

S4T series

SLIAL TRHE

SILIAZ O] 212} o] TR YUe K Hi2I0] ALS

O o o o =

ol P R
el tmm
=11 @D | P T LIE|A|B]|H
(Hex)
SATOAMS | 42 9.8  M5x0.8p |21 22| 4 14| 12
S4T0401 4298 | RPT1/8 122(22 8 |14 12
S4T0402 | 4.2 | 9.8 | R(PT)1/4 (22 22| 9 |14 14
= [ S4T0403 | 4.2 | 9.8 | R(PT)3/8 (23|22 9 |14 17
S4TO6MS | 6.2 | 11.8 M5x0.8p |22 23| 4 (14| 12
| | L S4T0601 6.2 | 11.8| R(PM1/8 123 23| 8 | 14| 12
7 | SAT0602 | 6.2 | 11.8| R(PT)1/4 |25|23| 9 |14 14
S4T0603 | 6.2 |11.8| R(PT)3/8 | 2623 | 9 |14 17
S4T0604 | 6.2 [11.8| R(PT)1/2 30|23 13|14 22
B F N S4T0801 82 [13.8 R(PM1/8 | 25|25 8 | 14| 12
N o S4T0802 8.2 138 R(PM1/4 |25 25| 9 |14 14
B — S4T0803 | 8.2 | 13.8| R(PT)3/8 (24|25 9 |14 17
S4T0804 | 82 [13.8| R(PT)1/2 30|25 13|14 22
1 L 1 | S4T1001 | 10.3|15.8| R(PT)1/8 | 28|26 8 |14 12
% % Wﬁ,;j,}‘—A—L:j; 1 S4T1002 | 10.3[15.8 R(PT)1/4 |28 26| 9 14| 14
! L —~ 11| S4T1003  10.3|15.8| R(PT)3/8 28|26 9 |14 17
\ S4T1004 | 10.3|15.8| R(PT)1/2 | 32|26 13|14 22
| | | — S4T1201 1 12.3/17.8| R(PT)1/8 | 28|26 8 |14 12
J\\ Hi // <‘ S4T1202  [12.3/17.8) R(PT)1/4 | 28|26| 9 |14 14
T 1] Y S4T1203 | 12.3/17.8| R(PT)3/8 28|26 9 |14 17
‘ S4T1204 12.3/17.8| R(PT)1/2 30|26 13|14 22
S4T1603 | 16.321.8| R(PT)3/8 | 33[28| 9 |14 17
S4T1604 | 16.321.8| R(PT)1/2 | 34|32 13|14 22

B s www.kcepr.com



KEC) ¢

KCC Co., Ltd.

AOLALAYE S (—r)

S4ST series

SUS HE{z| O|&l

Z=LEAF 22eF L)
QFLIAL £0f Z+2 Wakat 2|7} ghsko| S H HY 20| AL
LIRS
el i mm
=1 oD | @P| T |L1|L2|E|A|B (I:Qx)
S4STOAMS | 4.2 | 9.8 |M5x0.8p| 21|43 22| 4 |14 12
S4ST0401 | 4.2 | 9.8 R(PT)1/8]22 |44 22| 8 |14 12
| S4ST0402 | 4.2 | 9.8 [R(PT)1/4 2345 22| 9 |15 14
I 0 S4ST0403 | 4.2 | 9.8 R(PT)3/8/23 |45 22| 9 |14 17
S4STO6MS | 6.2 |11.8|M5x0.8p| 22|47 23| 4 |15 12
! S4ST0601 | 6.2 |11.8|R(PT)1/8] 24|48 23| 8 |15 12
S4ST0602 | 6.2 |11.8/R(PT)1/4] 25 49|23 ] 9 [15] 14
S4STO603 | 6.2 |11.8/R(PT)3/8| 25 49 23| 9 |15 17
E S45T0604 | 6.2 |11.8R(PT)1/2 28|52 123 13] 15| 22
S4ST0801 | 8.2 |13.8/R(PT)1/8/26 |50 | 24| 8 |15 12
S4ST0802 | 8.2 |13.8/R(PT)1/4|27 51 |24| 9 15| 14
T / | S4STO803 | 8.2 |13.8 R(PT)3/8|27 |51 24| 9 |15 17
|1 m S45T0804 | 8.2 |13.8|R(PT)1/2/30|54 24 1315 22
I ‘ I S4sT1001 |10.315.8/R(PT)1/8] 27 |55 |26 8 [ 15| 12
) —— ‘ S4ST1002 |10.3|15.8|R(PT)1/4| 28|55 26| 9 | 15| 14
| = I ) ‘ S4ST1003 |10.3|15.8|R(PT)3/8| 28 |55 26| 9 |15 17
% % HF—Ht—>t ‘ (j S45T1004 110.3|158|R(PT)1/2/31]59 26 13|15 22
\ = ] ‘ S4ST1201 12.3|17.8R(PT)1/8| 26 |56 |26 | 13|15 | 12
! S4sT1202 |12.3[17.8[R(PT)1/4 27|57 (26| 9 | 15| 14
‘ ‘ i S4ST1203 |12.3/17.8|R(PT)3/8] 27 |57 26| 9 |15] 14
/\\ | i | // S4ST1204 |12.3|17.8|R(PT)1/2/32|60 26 1315 22
<C
T | \ | T

www.kccpr.com



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|E

S4Y series
f’\
{

TLIAF YAFS

S4FC1001 |10.3|15.8] Rc(PT)1/8 |29 | 9 | 15| 17

)
)
)

S4FC1002 |10.3[15.8] Rc(PT)1/4 | 29 | 11 | 15 | 17
S4FC1003 [10.3[15.8] Rc(PT)3/8 | 29 | 11 | 15 | 19
)

)

)

)

- % 7 QHLEALZ O] Z+2 ghako| Y& 285k S H Hlj2tof| ALE
SEIEN
Tl mm
== oD | @P| T Ll J|Aa|lB | M
L (Hex)
A 3 H SAY0AMS5 | 4.2 |9.8|M5x0.8p 34 | 13 | 4 15| 14
S4Y0401 |42 98 RPT)1/8/ 38 | 13| 8 15| 14
__ SAY0402 | 42 98 RPT)1/4| 38 | 13| 9 15| 14
e s [/ﬁ\\ SAY0403 | 4.2 9.8 RPT3/8 38 | 13| 9 | 15 | 17
T‘ jU < ., SAYOBMS5 | 6.2 |11.8/M5x0.80| 40 | 15 | 4 15 | 14
1 SAY0601 | 6.2 |11.8|R(PT)1/8| 44 | 15| 8 | 15| 14
i — SAY0602 | 6.2 |11.8[R(PT)1/4 45 | 15| 9 | 15 | 14
{} SAY0603 | 6.2 11.8R(PT)3/8 45 | 15| 9 | 15 | 17
: SAY0604 | 6.2 |[11.8R(PT1/2| 48 | 15 | 13 | 15 | 22
i S4Y0801 |82 13.8R(PT)1/8| 48 | 17| 8 15| 14
— SAY0802 | 8.2 138 R(PT1/4 49 | 17 | 9 | 15 17
SAY0803 | 8.2 |13.8R(PT)3/8 49 | 17 | 9 | 15 17
S4Y0804 | 8.2 [13.8R(PT1/2| 51 | 17 | 13 | 15 | 22
S4Y1001  |10.3[15.8/R(PT)1/8| 49 | 20 | 8 | 15 | 12
S4Y1002 |10.3|15.8|R(PT)1/4 50 | 20 | 9 | 15 | 14
S4Y1003  |10.3|15.8/R(PT)3/8| 50 | 20 | 9 | 15 | 17
S4Y1004 |10.3|15.8/R(PT1/2| 53 | 20 | 13 | 15 | 22
S4Y1201  |12.3[17.8/R(PT)1/8 50 | 20 | 8 | 15 | 12
S4Y1202  |12.3[17.8|R(PT)1/4 51 | 20| 9 | 15| 14
. S4Y1203  |12.3|17.8 R(PT)3/8| 51 | 20 | 9 | 15 17
S4FC Se rles SAY1204 |12.3[17.8R(PT1/2| 54 | 20 | 13 | 15 | 22
- N OH_I.AI. OIZ o4
: s o =2MS
y FLIAMZO| 22 Whato| £ U HlZiof| AL
QAzR|+E
ckel i mm
(=11 oD | @P T L|Aal|B|H
(Hex)
[ _ ) -~ SAFCO4AMS 42 98| M5x08p | 24 6 | 15| 10
| i — < b SAFC0401 42|98 Rc(P1/8 | 26 | 9 | 15| 14
— T o [T SAFC0402 | 4.2 98| Rc(P1/4 | 29 11|15 | 17
S SAFC0403 | 4.2 98| Rc(PT)3/8 | 24 6 | 15| 12
SAFCO6MS5 | 6.2 |11.8] M5x08p | 24 | 6 | 15| 12
SAFC0601 6.2 |11.8 Rc(PT)1/8 2319 | 15| 14
A B SAFC0602 | 6.2 |11.8] Rc(PT)1/4 | 28 11 | 15 | 17
~ SAFC0603 | 6.2 |11.8| Rc(PT)3/8 | 29 | 11 | 15| 19
SAFC0604 | 6.2 |11.8] Rc(P1/2 | 30 | 13 | 15| 24
L SAFCO801 |82 |13.8 Rc(PM1/8 26| 9 15| 14
-— SAFC0802 |82 13.8/ Rc(P)1/4 | 28 | 11 | 15 19
SAFC0803 |82 13.8/ Rc(PM3/8 | 29 | 11 | 15 19
SAFC0804 |82 |13.8 Rc(P1/2 30 | 13 15| 24
(
(
(
(

S4FC1004 10.3|15.8] Rc(PT)1/2 | 31 | 11 | 15 | 24
S4FC1202 |12.3/17.8| Rc(PT)1/4 |29 | 11 | 15| 17
S4FC1203 |12.3/17.8| Rc(PT)3/8 |29 | 11 | 15| 19
S4FC1204 [12.3/17.8| Rc(PT

12 301315 ] 24

B 0 www.kcepr.com



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|&l

S4PFC series

S4PFC1004 | 10.3|15.8| Rc(PT)1/2 | M18x1 | 34

—

13 115 | 15| 22 24

Lo 1
)
‘Nz HL:I_Q_ o} I. I. ol I.;
S od
> ¢ IH'EE LA A
- ofHof| 2|5 510 SLEALS O 22 Bigko| S E HYTHO|| AL
==
QAR |FE
2l o mm
H1 | H2
] 2 oD | oP T T2 | L E A1 A2] B | M) MH2
B SAPFC0401 | 42 98 Rc(PD1/8 M12x1 | 28 | 4 | 9 |15 | 15 | 14 | 14
5 SAPFC0402 | 42 | 98 |Rc(PD1/4 |M12x1 |30 | 4 |11 |15 15| 14 | 17
‘ SAPFC0403 | 42 | 9.8 |Rc(PM3/8 | M12x1 |30 | 4 |11 |15 15| 14 | 19
i SAPFC0601 | 6.2 | 11.8 | R(PD)1/8 |[M14x1 | 26 | 4 | 9 |15 |15 | 17 | 17
:‘ﬁ [ =[nE - SAPFC0602 | 6.2 | 11.8 | Rc(PT)1/4 |M14x1 | 30 | 4 |11 |15 |15 | 17 | 17
T B SAPFC0603 | 6.2 | 11.8 | Rc(P)3/8 |M14x1 |30 | 4 |11 |15 |15 | 17 | 19
R SAPFC0801 | 8.2 | 14.8| Rc(PT)1/8 | M16x1 26 | 4 | 9 15 15 19 | 17
A SAPFC0802 | 82 148 | Rc(PM1/4 |M16x1 | 28 | 4 |11 |15 | 15| 19 | 17
A1 1l A2 SAPFC0803 | 8.2 | 14.8| Rc(PT)3/8 | M16x1 31 | 4 | 11 15 15 19 | 19
2 - SAPFC0804 | 8.2 | 148 Rc(PT)1/2 | M16x1 | 34 | 4 | 13 | 15 | 15| 19 | 24
N SAPFC1001 | 10.3|15.8 | Rc(P)1/8 | M18x1 | 30 | 4 | 9 | 15 | 15| 22 | 19
S4PFC1002 10.3]15.8 | Rc(PT)1/4 | M18x1 | 30 4 11 15 | 15 22 19
SAPFC1003 | 10.3 | 15.8 | Rc(PT)3/8 |M18x1 | 31 | 4 | 11 |15 |15 | 22 | 19
)
S4PFC1202 12.3115.8 | Rc(PT)1/4 | M20x1 | 27 4 11 15 |1 15 22 22
SAPFC1203 | 12.3 158 Rc(PT)3/8 | M20x1 | 31 | 4 | 11 |15 | 15| 22 | 22
SAPFC1204 | 12.3 158 | Rc(P)1/2 | M20x1 | 35 | 4 |13 |15 |15 | 22 | 24

oj'20]| | 5-510] SHASoM It HESHH 22

A
QAR [FE
el i mm
\ H1
L =L @D T L E|AalB |
a SAPCO4 |42 MI2x1 | 32| 4 16|15 14
SAPCO6 | 62| Miax1 | 33| 4 [17]15] 17
v—w — SAPCO8 |82 MIi6x1 | 33| 4 18|15 19
i TH S4PC10  |103] Misx1 | 35| 4 | 18| 15| 22
S Hr ———j—E—— i SaPC12 123 M20x1 |36 | 4 | 18| 15| 22
/
B T

www.kccpr.com . N



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|E

S4UC series

= o
St 9SOl M S} HA5H0] 242 Wako| £ E dlj2iof| AL
LIRS
T2l mm
£ oo o0 | @P B E
— = S4UCO4 42 | 98 | 15 | 32
S4UC06 62 | 118 15 | 32
S4UC08 82 | 138 15 | 32
S4UC10 | 103 | 158 | 15 | 32
I S4UC12 123178 | 17 | 34
= Wl SaUC14 | 143 | 198 | 17 | 34
Sy © S4UCT6 163 | 218 | 17 | 36
| | |
SEHAHA LAt
St Qiskol A STt HASHY 2]2F Yhsko)
SE Hj3of AL
=S| A
el ;P Ry
T2l i mm
F od @D oP B E
- -
g S4UL04 42 | 98 | 12 | 20
S4UL06 62 | 118 | 14 | 22
- g S4ULO8 82 | 138 | 14 | 24
| O o
—— g e S4ULT0 103 | 158 | 14 | 26
! H S4UL12 123 178 | 14 | 26
‘J SauL14 143 | 198 | 14 | 27
x‘f S4UL16 163 | 218 | 14 | 29
[
[
T

12 www.kccpr.com



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|&l

S4UT series

QIR+

el mm

E (1= @D | op B E L

B S4UT04 42 | 98 15 22 22

S4UT06 62 | 118 | 15 23 23

I S4UT08 82 | 13.8 | 15 24 | 24
SIS i S4UT10 103 | 158 | 15 26 26
S4AUT12 123 178 | 15 27 26

\ - S4UT14 143 198 | 16 | 32 32

S4UT16 163 | 218 | 17 32 32

245 S5 HYj2tof| AFR
ror v d P
QAR

e i mm

L 24 @D | @P L J

SAUY04 42 | 98 | 35 13

S4UY06 62 | 118 | 39 15

A I 7 S4UY08 82 | 13.8 | 41 18

=y — | S4UY10 10.3 | 15.8 | 43 20

s |& it 4> -
5 o RSN S4UY12 123 | 178 | 42 20
Ut M——ii S4AUY16 163 | 218 | 71 24

www.kccpr.com B 3



KCC] Kcc Co., Ltd.

AOAAES (F)

SUS HE{z| O|E

S4ZA series

Eﬁ 2 +X|-o=|

AP (48 )oflAe] FE 2] AFE (HAFY)

QAZ|+E
£l mm
£ o b | o | L E B
B S47A04 42 | 98 | 44 | aa | 15
T S4ZA06 62 | 118 | 47 | 47 | 15
S47A08 82 | 138 | 49 | 49 | 15
L S4zA10 | 103 | 158 | 52 | 52 | 15

T
H N A H1 S4ZA12 123 | 178 | 54 | 54 | 15
CER IS

1 -

|

|

|

Il

= ol =
EI-: _—_ 2 Ezl-oo:l
LiZ Ato|=7} CtE SH7(2]e] HAE SsHA AL

Y|

T2l mm

2d @D1 | @D2 | @P1 | @P2 E B1 B2

£ SAUROG04 | 62 | 42 | 118 99 | 32 | 15 | 15

31 30 SAUROS04 | 82 | 42 | 138 99 | 34 | 15 | 15

SAUROS06 | 82 | 62 | 138 | 119| 34 | 16 | 16

S4UR1006 | 103 | 62 | 158 | 119 | 35 16 | 16

| *777 7 ~ S4UR1008 | 103 82 | 158 138 35 | 16 | 16

SE I SAUR1208 | 123 | 82 | 178138 | 35 | 16 | 16

S4UR1210 | 123 | 103 | 17.8 | 155 | 35 | 16 | 16

S4UR1612 | 163 | 123 | 21.8 | 178 | 37 18 | 18

14 www.kccpr.com



KCC Co., Ltd.

AOLALAYE S (—r)

KEC) ¢

S4RY series

SUS HE{z| O|&l

=2 EHo |.%
CHE @ RENHE YAHY
8t W3k FEI &St ?E*% ekl 3717t
ZAE YH 293 SH HiTo| AL
SHalA
QIR+
el i mm
L 24 @D1 | @D2 | @P1 | @P2 L J B1 B2
5 - S4RY0604 62 | 42 | 118 | 98 | 385 | 15 16 13
S4RY0804 82 | 42 | 138 | 98 | 39 15 16 13
S4RY0806 82 | 62 | 138 118 | 39 15 16 13
/rLT** e ls S4RY1006 | 103 | 62 | 158 | 11.8 | 42 20 | 20 16
— SIS S S4RY1008 103 | 82 | 158 | 13.8 | 42 20 20 16
ENSHE ———j j> = SARY1208 | 123 | 82 | 17.8 | 13.8 | 42 20 | 20 16
> L I:T S4RY1210 | 123 | 103 | 17.8 | 158 | 42 | 20 | 20 | 16
A S4RY1612 | 163 | 123 | 21.8 | 17.8 | 71 22 29 | 24
> \
2 EUWOA |.%
3t WSt S50} H2510] 22t Wako] TH
kst L2 AfO|2 7t CH2 £ HiZiof AFS
S |A
AR+ E
T2 i mm
F 24 @D1 | @D2 | @P1 | @P2 | L E B1 B2
S4GT0406 42 | 62 | 98 | 118 | 23 23 15 15
B1 S4GTO604 | 62 | 42 | 118 | 98 | 23 | 23 | 15 | 15
J— — S4GT0608 62 | 82 | 118|138 | 25 | 25 15 15
o] = — =" [l S4GT0804 82 | 42 | 138 | 98 | 25 | 25 15 15
s e || fﬂ | | S4GT0806 82 | 62 | 138 | 11.8 | 25 | 25 15 15
Tk - S4GT0810 82 | 103 | 138 | 158 | 26 | 26 15 15
N Lol S4GT1006 | 103 | 62 | 158 | 118 | 26 | 26 | 15 | 15
o — S4GT1008 | 103 | 82 | 158 | 13.8 | 26 | 26 15 15
e S4GT1012 | 103 | 123 | 158 | 178 | 26 | 26 15 15
0 S4GT1208 | 123 | 82 | 178 | 13.8 | 26 | 26 15 15
*P’Z' S4GT1210 | 123 | 103 | 17.8 | 158 | 26 | 26 15 15
2 S4GT1610 | 163 | 103 | 21.8 | 158 | 24 | 32 16 15
S4GT1612 | 163 | 123 | 21.8 | 17.8 | 25 32 16 15

www.kccpr.com



